® 2ab

= % 20°b - 6a°b* + 2% oA Zh o] 5 Ap=?
@ 2a?b 3)2b @ 2a ® 2a%b?
2ab — 6a*b? + 2b> = 2b(a® - 3ab + b?) O| L2 F-FQI Q¢

2b ©]tt.
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(@)612—|—2ab—|—b2 = (a+b)?

@ x*+ (a+b)x+ab= (x+a)(x+b)
® a® + 3a2b + 3ab® + b® = (a + b)*
@ a®+b® = (a+b) (a® - ab + b?)

® a*-b* = (a-b) (a® +ab+b?)

~&B

o]zl 479] Fo]9] Yol g2
a?+ab+ab+b?>=a*+2ab+b> ---O

a+b A ZALEE TE 4 9, o] If
(a+b)2 .©
A, ©A a2 + 2ab + b2 = (a + b)?
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4x% 4 oOx + 16 o] SHAFA o] H uj, o]

O (2x+1)2 @ (2x+2)?
@) (2x + 412 ® (2x25)2

(2x+4)? = 4x? + 16x + 16
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@ x-3 @ x-5
®y @ (x-3)(x-5)
@) (x-3y)(x - 5)

x%y — 8xy + 15y = y(x® — 8x + 15)
=y(x=3)(x-5)




5. a-b=1,a*-p =44, a+b 2 F2?

@1 @ 2 @ 3 @4 ® 5

a’*-b*=(a+b)a-b)=(a+b)x1=4
La+b=4




6. 20x* +22x+A = (4x+ B)(Cx+3) & W), ABC o] o= dgre
AL WY

® 40 @60 ® 70 @ 90 ® 100

B )

(4x + B)(Cx +3) = 4Cx? + (124 BC)x + 3B
4C=20, .C=5

12+ BC =22, .B=2

A=3B, . A=6

.. ABC =60
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® x+1 @x+2 ® x+3 @ x+4 ® x+5

(Wol) =x? +4x+4 = (x+2)2
webd o1 HAZIE 0] o W] Zol x 1 201t
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® 4a+3

16a2 — 24a +9 = (4a _ 3)2
uteba] gF 0] ol 4a - 3 0|t




9. (x+5)?%-2(x+5) E JsEalctH?

@ (x+3)(x-5) @ (x-3)(x+5) ® (x-6)(x+3)
@ +3)x+5  © (x-6)(x+5)

(F )= (x+5)(x+5-2) = (x+5)(x +3)




10. 6xy—-8x—-9y+12 = (ax+b)(cy +d) MM a+b+c+d 2 TS
T-otH?

6xy —8x— 9y + 12 = 2x(3y —4) — 3(3y — 4)
— (20-3)(3y-4)
SLatbtc+d=-2




11, (x-3)(x+1) = (x=3)2 +6(x+ 1)? & IElotd?

® (3x+2)(x+2) @)2(3x-1)(x +3)
® 2(3x+1)(x-3) @ 4(2x—2)(x+3)
® -2(3x-2)(x-3)

B

x+1=A, x—-3=B=Z X3s5}H

6(x+1)* + (x=3)(x+1) - (x = 3)?

=6A% +AB-B?> = (2A + B)(3A-B)
={2x+1)+(x-3)} {3(x+1) - (x-3)}
=Bx-1)(2x+6) =2(3x—1)(x+ 3)




x2 —y? +8x 4+ 4y + 12

O (x+y+3)(x—-y+4)
@ (x+y+2)(x+y+6)
@ +y+2(x-y+6)

@ (x+y+4)(x-y+3)

@ (x+y-2)(x-y-6)

22+ 8x—(y? —4y-12)
=x2+8x—(y+2)(y-6)
= (x+y+2)(x-y+6)
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A=18x25-18%x23, B=212-2x21+1

O 400 @ 360 ® 200 @ 160 @40

A=18(25-23)=18x2 =236
B =(21-1)2 =202 =400
. B—10A = 400 — 10 x 36 = 400 — 360 = 40
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Vi=a-1°]31, -1<a<3¥9 M, Vx+4da+ Vx—4a+82 7t

37

@ 1 @ 2 @3 @

T

o

[e)

B

Vi=a-19 FHE AFA x = (a-1)2
Va2 +2a+1+ Va2 —6a+9

= Via+1)’+ /(a-3)?
=la+ 1]+ |a - 3|

=a+1-a+3=14

]




15.

VI8 o] &4 HEZ a, 2V5 9 A5 RES b T T

a® — b3 + a?b — ab?
a—-b

o] ghe Fata?

@ 13 @ 15 @18 @ 20 © 24

B

4<VI8<50|ER g= V18-4
4<V20<5022 bh=4
a+b= 18

( _a(a® - b?) + b(a® - b?)

HN

e

A1) -
ala+ b)(Z:b) +b(a+b)(a-D)

@a-)a+n’ "
a->b
= (a+b)?
=18




